

02/07/2020 09:00 AM | Install Day 1 02/08/2020 01:00 PM | Install Day 2 02/09/2020 08:00 AM | Install Day 3 02/10/2020 09:00 AM | Strike PO: Shipping Address: Beverly Wilshire Mindy Weiss

232 South Beverly Drive Suite 200 Beverly Hills, CA CA

Invoice Date:

Due Date: Upon Receipt

Salesperson: Angela Murelli

J2/ 10/ 2020 09.00 AM   Strike		Salesperson: Angela Murelli			
Description		Qtty	Price		Total
Additional Deta	ails				
	Dj Booth - Oval Light Up - Gold	1	\$450.00	Т	\$450.00
14. 15	Dj Booth - Vienna - Painted Wood	1	\$450.00	T	\$450.00
	Truss Cover w. Velcro -(2) 55' x 12" x 12" -(2) 20' x 12" x 12" -(1) 32' x 12" x 12"	1	\$2,800.00	Т	\$2,800.00
		Tot	al Additional Deta	ails	\$3,700.00
Alley Red Carp	et				
	Hedge Panels 5' x 10'H	40	\$175.00	Т	\$7,000.00
	Hedge Extension 2'H	16	\$100.00	Т	\$1,600.00
		To	Total Alley Red Carpet		\$8,600.00
Cocktails					
	Monaco Round Bar (5pcs) - Champagne	1	\$2,600.00	Т	\$2,600.00
	Round Plexi Barback	1	\$350.00	Т	\$350.00
	Perimeter Drape - Champagne Velvet only perimeter (no separation from cocktails to reception)	1	\$10,850.00	Т	\$10,850.00
	Window Wall - Champagne Velvet	1	\$6,500.00	Т	\$6,500.00
	Perimeter Valance	1	\$2,750.00	Т	\$2,750.00
			Total Cocktails		\$23,050.00

Description		Qtty	Price		Total
	Mirror Top 66"D	16	\$175.00	Т	\$2,800.00
	Hedge Panel 5'x10'	2	\$175.00	Т	\$350.00
	Perimeter Drape - Champagne Velvet	1	\$12,500.00	Т	\$12,500.00
	Perimeter Valance - Champagne	1	\$2,100.00	Т	\$2,100.00
			Total Recept	ion	\$17,750.00
Champagne Roo	m				
	Moscow Bar Cart - Oval Antique Gold	2	\$250.00	Т	\$500.00
Ī	London Accent Table - Wood W/ Motive On Top	3	\$100.00	Т	\$300.00
	Amsterdam Accent Table - Hourglass Table Large	1	\$150.00	Т	\$150.00
	Washington Sofa 10'L - Blue	3	\$650.00	Т	\$1,950.00
	London Cranleigh Club Chair	4	\$250.00	Т	\$1,000.00
8	London Ottoman - Bicycle Leather	4	\$80.00	Т	\$320.00
	London Ottoman - Short Stool	2	\$80.00	Т	\$160.00
	Balenciaga Coffee Table - Gold Leaf Rectangular	3	\$250.00	T	\$750.00
		Total	otal Champagne Room		\$5,130.00
Build - A - Bear					
	Segovia Sofa - White w, Brass Base	2	\$550.00	Т	\$1,100.00

Description		Qtty	Price		Total
TI I	Paris Gold Coffee Table - Mirror Top	2	\$225.00	T	\$450.00
	Madrid Accent Table - Giusti Marble Top	2	\$125.00	T	\$250.00
	Segovia Club Chair - White	2	\$275.00	T	\$550.00
		Total Build - A - Bea			\$2,350.00
Bordeaux Room					
	Hollywood Sofa - 8'L	1	\$550.00	Т	\$550.00
	Hollywood Club Chair - Taupe w. Gold Frame	2	\$275.00	Т	\$550.00
	Paris Gold Coffee Table - Mirror Top	1	\$225.00	T	\$225.00
	Hollywood Club Chair - Taupe w. Gold Base	2	\$90.00	T	\$180.00
		Total Bordeaux Room		oom	\$1,505.00
Chateau Room					
	Hollywood Sofa - Taupe 8'L	1	\$550.00	T	\$550.00
	Hollywood Club Chair - Taupe w. Gold Frame	2	\$250.00	T	\$500.00
	Paris Gold Coffee Table - Mirror Top	1	\$225.00	T	\$225.00
	Hollywood Ottoman - Taupe w. Gold Base	2	\$90.00	T	\$180.00
	Console Tables - Venice - Mirrored Large	1	\$250.00	T	\$250.00

Description		Qtty	Price	Total
			Total Chateau Room	\$1,705.00
Services				
	stallers: Install Friday AM bric to be used for Fundraiser	10	\$500.00	\$5,000.00
	stallers: Install Saturday AM rniture and Additional Details	6	\$450.00	\$2,700.00
	stallers: Sunday AM Hedge in Alley and Touch Ups	10	\$450.00	\$4,500.00
	stallers: Strike Monday AM to be struck	10	\$550.00	\$5,500.00
Tr	ucking: 24'L	5	\$450.00	\$2,250.00
	anager: Onsite Days	1	\$1,250.00	\$1,250.00
Ce	ertificates: Flame Proofing	1	\$1,250.00	\$1,250.00
Sı	upplies: Misc	1	\$1,175.00	\$1,175.00
Please make checks	payable to Revelry, Inc.		Total Products:	\$63,790.00
Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it		Total Labor/Services/Misc: Taxes (tax excempt):		\$23,625.00
				\$0.00
			Discounts:	(\$0.00)
			Total:	\$87,415.00
			Payments: Balance:	(\$87,415.00) \$0.00
			Daiailce.	ŞU.UU